1994 9299 943 114

o”0NNN VN — O2TY NN

DOV MINITY I S (WO D 10D 0w AN T TNTU3 nYan fabn
DN NPT 113 IBRNI . DWOMND OP0AND 0N 7Y NeTian DNy
JUNTANDN  NT0DING  TTMUNAMP  FI2ON 030 MM Npon PN
2720 PRY NI 0193 IVHBN ATAI APNION NN 7Y 0IRN NN
MY UM TYD YT WIARTT MY DWNINN DIBIMIDIND 13 wen

Karmarkar-Karp ¢ ©nonn notws ,nuyh? 00 NN DRmIeR

VY G T 1974 N
$NMM22 N

N AT 12 YR 10 IORD DA WY TY D9T0sn 1Y PR 070 iRkan
101 R A3 7eR

N PNTID 00TV P WU DIDN L3I0 OTPA ¥ANIN ARTIA YR axita By nmTya 2
M AP 12 YRITT 020 .00 OTaRt2 (MIRTI) IRTN R (Mx12n) axan ax Ry on
DPRTIAND PPN MR 2 YT 127 NyTa .8k yanan iR 3707 mRen e R kY
N1TIRPTNA Y Y RW CYTINI DY LR TIAY 87 07 - R TRy D 77 1717050} v AToa
JMETXN MW
LIRTZ AR XTI 173,720 0K ORI P LARTIN MR AXTD P2 PRR TNl
JIIIP 12 YR UaN3 7INE3 MDA - AR 0K XA 1A

M1220% APDRI AMIR 12 YT 12T RIOKR W01 Ny

77272 .NBREN ATV — TR AWYRN 0MIYR "I X7 RPW D By AN Dm0 T
T2 7302 SINRT TV 0N 2 0TI %303 SR 1198 D13 PR 103 ST NX
AWM NP0 YDA CINA VR DN 11, PEOER 2R M - 17 BTN 0N 0N 0ra
PN 10T X M AN Y TN 193 RN IIRY W 1P 7T 2303 N

21070810 17N ™10 - 193

X TIRY 5 AT 1Mo 1
A oyn 7 R vown [N Iy Innw 2

T NYUN YN 30 41a



Fa it et I A o

Sw o»pRnR DRI TPRnI R NPT 4ADIAR DNWRT PRYR AT XY 17 1300
Rian!

DY DD DY OITYNN TITY NY 9PN A
10w 70 P10 NXTIN TWPH IR NDD1 RN
B*1y *n3 e Yy Yon mom Rnw 073 1phn ]Y MR 13 Pvnw 237 eK KD
Sy 79p5Ma An Y .10 0UnNn 9902 wow - 1In DR DN D°NRR DN ANRY
ST BERRA B33 w0 0 mIR BP0 M3 IRIY NRPN1 :0TInIK XD Naw ANR N3

713777 NpPoDa ™ RN N8

ARy S703 Tw ,an 09w 30 — DONRD IR AT MR A TR K 170N
Tan

0190/ 1%, ARRAN2 b -1 g D's0a Phynw® 1IN Yy Mam Py 0vyn 0Ty W O $020)
10771730 Topn N 2Nt TIR X0 nypwt (R 0w

min(a, b).

e Yy
max{a,b)—min(a,b) = ‘a —b‘

VAN DX P00 TR TV R K VB 0 072 DT 12900 *a-%Y 1292 TR 7Y w
JISNERS TN DW2 T 0 7391 19 By [ pvipa mbwn RY R haw

oYY NYN Y AN — 1721890 BAIYN .
11 Y0 7 1°0 DawR [N W INPwa pobl

I MR VN TR $O7TY RN KO3 ,07007 PN AR DYRD Yan 1w
Ya yTYR OK LPU0 9V IR S0 O9Y 0T e By Tvn Tk M By Ty TR,
TN 2 IR TIP3 1972 ORI PRI ARY 133 NITR D17Y3 00D TR
wrna oy Y%A axn By mnn Dnaw yagn wrn aown - 0712 193 NN 1913

$TIRWIT

YRR 4 PRI BIED 0w 7 YD N YMea BYo0 Rrua Ry 2 T Ow 2037 "wnena Y 3
WY TP TIEDAT A3-X3 @YD K003 8231 23 1900 MITINS (ORPE) R 0T

MBpIa Y31 PNanng Naon 4

A mve 2 100 whwk I Y IR A Astn s pra Aty mabn otamy S

X T OMUPNSh PR M MDD Y DTYn 0Ene TN 11 0¥ 21T YT IITTIRG 6
07 1 EYIOBAw B9 PR LT

MR DN 30 11 8



oennn 0'wah - 07Ty MR

TR IRV RIM O (3 MR 10 19w 1100 PR M MmN 190 71 phe Yw TIph
177y Y2 Yea DRI OTIRN DPRAna oy RN nTne M be v eva
a™yn ey BPEbn oY1 190R APV TN PRI A PTT 17a XYY phoa taTn
nR 2°0% YW 17200 POD NN 1700 DR 3 By IRe  (@eane 2o matnm
N33 .*T700 PRI M YEAT 7179 003 I 13T N vIpY Ot whn obwy yanin
(2 1270 R TIDA XTI W B [N
P"IR BY "IN TV AR T, a0 e B Ty Oy 0 Sw Ty e nb
ANTIVA OMIRYAN ‘P PUON YW Ty oY ‘PR Pw 7Y ANl T L.pYn e ‘o abend
K 1012 PN WTIZE 0N A1 10712 TAND P IR TR R 05718 MR 1IN e
DRI TY B 19722 R PR IR 2YR N OR 3 NTTYD WY B

.07nwa Kow Iva ' 1R IRwIw ‘wn bw Iy oy aanxn? M

X 2773 .., ARPA PV A312w 1R @R J2en mEyn? 0o 717 Ty wn
PO T NP ‘PR X3 OANY N oe By 2vnns prnn bw oy oy nn e Ty
Oy 1w TV Sw TN U1 2NN PN TN - P2 R0 'wn P Ty v pn oy
NYIAW? PR a2 PRPA ST TV TR 2o0 A B en 2w Tvan TwWeaw

JIRWIW WURR Yy A2 PR Yy A

173nA0 "y DDA JPYT JWRTN 2752 PoyR 101 My qIve Ta Yau poes ,j2 DX
qapYTa
Y3107 noyIn arva ATy 72 e Yonuw nn 923 pawnn nvat ey o

T PR YR NODNM YT YURD RAN Y AT Y

PE0ER JMIK 170 P91 /N7 PEN TV TV PONREA 11,7 ' TV ) TY PRDXR
9971 172 7393 K¥23 .3I0 71210 ,790 730 1NIK2 19101 RO IR PR T R TV
2
2w A1VEN N7 1727 1T YW YR 03T A 1A ARy 21an By vn fovpd e
10T PN Pva
JLNX P Ay TR Y 2w MITEn Wean po s pne x27 [17amh] 2o we
ADY 1713 7AR 13737 M1270 7 N1 12 .. BRIV YW 1R [ IR KR 0w
W20 on MW ‘P 0y ‘v Bwn W PR 1eesRT K117 20 Ma o pie
awg Ty

.Ow PoThIo 5ov pma 7
Smonnpa 8

9 ryen o 30 s



ThIT Y2 Ty M

XpDY’) "wyn Y130 PR XY 0993 A7 MRNA PN Y0 mPont muonni nhwns
* 777 D1BD 737 YW I9I03 MATAN 10 ,7ATY {71722 MRIIND M Nt P2 ek

APAUN TV DTUNND THY T

© PN RV B-9Y .avn T IR 3en? °7 otwnn T RR 2R 15w 1R 1202
IR BEPRY 0193 ,myRn AN 0vTYi ATV 93 R 3w an 703 awnn meya?”
ANEN NPV 0PN YA MY RY3 RN NPIWART IR0 1371 73 10 Yy odeni 1Y
Sy1wn 7YY mnten

TYIW 03 . 4,,a,,...,a, D103 NYHY? JRY W NN 9y DTV DY B- N
MRTY WP T 0MIYR YW MR 1A YN ey 1K) 0w o1wnn 17ann
.Mawn e obenn T A

1m0
DR g IYIEER TN p MPENR TP VX TN 4. d,,..., @, ATTIY ORI30 10T

cata,+..ta,=2p+q

nINMIT
oownn 7w ,500 ,400 ,300 ,200 ,100 :00 NPIIYR MY 1AR0 2RWI PYYE 3R (1)
1 100 R0 nyvawn 713 700 ®¥n

100+ 200+ 300+ 400+ 500=2-700-100

P37 11 b -1 @ Dm1oDa vAwY (R0 9w 3vn By 0Tyen oy aw e pnl (2)
g=b—a ®W MyRRR W, p=a K7 0OEND TW . <b-w NPP7I0 17230 KA
ovpnm

2p+g=2a+(b—a)=a+b

H{HDY PIPIT N Y BT AWYAT) MY NW 3 NP0 KPS VXA 0T ERD S8 emk pTa. ¢

R IR 50 9w oopbn TS nTTTYn RNR 93 phn? 71 - 100 By TR b3 ,0'TYR 0TV 3 RO

ARNTI MY 1 1 e 1ab 100 RYY 150 Sw ©1Pwh 77V 22pnt 3MRDaw 2 M 3-2 oop7nn

0PI K7W AT DRRI DTN TR 20051 DOIWRT 1T 7Y AYRIn XY 1 AU 700 DPRA 750 M0
SR |DING AT1TY PomY

nrswn D0ON 30 17Ta 10



o™wnanh 0°edn - ¥ R

1 73309 Dhan

NP ATTEDR W B TSI TV 2w MIya Auin b Avrvn M TR ovo Tk
R PR KT R R T Yw mMIva aersh saeznd s /notpsn pume”
by wr JINRT TRR2 .00N0 TV TINR DNR UMD 1AM MR mmisn e
93,70 ¥R NI 171903 Y271 032 AY1aEs TIva nbYo1 ko 10-yy 12%2 1R TV neren
1Y BYRYD TV 132WN TV 23PN R IRm1 IMTY0 P memen g, 44, +.+ 4,
.o1wnn

S

13-9¥ .(72°191) 71 Ay1awn 77 A7y 0wna ve 733,003

2 pen

DITIWORD IPRT 997 03 0 Ry mbwnn T P PRrReopRi Ntya NIy "R1aD N2
1D Yy AyEwn TW Sw renran ya? aYpw (070 new B 1 1"anTn o vab)
(RN 990 oo 9o

PANIND NYANA — MNTY P8 LD

X 1Y TYR OFYY M13I00 2130 11IRT 9Ayawn VY3 ANy Tpend 103 mapya
ANV Mm130) ©ID0R AW P2 AP0 0T TR YRME MM3PR Maon 713 13

37910
N0 a,be S May toryhw - onbwn 0aonT hxap S o

[a,b]=|a—|

4 N2

:Npnn , S nxApn By para nnws R[]
[a,6]=[b,a] «nrrvomp) P pin (D
[a,0]=[0,a]=a w1k arp (2)
[a,a]=0 :(m3y wonY mwn) 00 orp (3)

SRR IR0 K 0w YR YYR0R VIR 131, .0V2en e Ye ayownnn obynl o prTa 10
N3 513 By oy e S -3 0msont Yaw pua peient N Orwnn oM0DRa P ox e 11
M

11 NN NN, 30 A



13577 P21 Y M

NN
hipnY (PPLRITION) VIR N RN NDPPR IR 970 nwenw KTy nnenn

. 100,{200,300]] =0 -w Ty [[100,200],300] = 200

07277 IR TR S773 MY 7787 0°3777 1902 LTIV AT 702,10 0K M0 ARYINA
G107 ORXIN NN /129

5 NPNT
.[[200,300],[[400,500],100]] =100 Z)1"am7%? nnery 717

.[[[[500, 400], 300],2007,100] =100 :}am> mmw 117
J[[[200,300],[400,500]],100] = 00 :AD™->p1°171 17

N

TR 1K 1m0 T 25w L [0,100] =100 1Mznn RIT PINKD 3,270 7R 17T 7o)
(e ¢y 12 $7ann) nwRwn 9V UNTPHRa wmDnd 01 1K P avaen 7y nR
Romh b ptieninh ol

M9 DINY — IINTY NN D

NPYAR MRPTRR Nnnpnn ara Ay »1-5y Yaphn mnawn T 1R 0Tpa Pyea
MY 1102 AN opYD TEon ARPYIN Y ARYINA L PERIRION DIN AvwDnw 1R
D737 OYRY T Y 0 WA PR U30TR M I amR RN JIMTYR

W NI TIPTIP 93 1w LY IR TIPTIP OV (Y X7 £ ¢V TP X M vy
(P73 013w DY) Nass TeTIp N (0022 RY%) Ay

YIpw 1IN 3PV RYTY MDY AR 2 @Y mnIs TpTR 237 0w M vy R P
(707 12w opran TIpTIR 227 a0 3w T APy oY YV A 077V 1TR MINR

TP Y31 ATV *39W 0D DOV WRD 1A YV YV DTTIY MR 20 TRt M
JDRONT YT T AR DWW TRTIP 93 08 N0 1hDR TR1n

J1"30 1307 AR BYIER YT K Kan Ve (0730 1aon o=ty dw 12

AYUN S9N 30 7713 12



[m clie) al g Fo it a by iy Bl o L k0 | I

& NIWT

Rl P70 1NY 1192 \Y

a0 [[[200,300],[400,500]],100] =100 m> DRNx pIdR WRE M YYR
Loy 5 xaxty amwn) [[[[500,400],300],200],100] =100 71787 D°RhR H0RA

bapnnn AYIIED 7Y L(0TPI 0URP DPRE) DN DY DY ADIR RN vana 990
SMR 0727900 TYEYA Ayiawn *oay 1ok anw s

7 npant

7372 939

211”271 73071 °8-5Y 72072 IIWRTT T AR RN AYPN0R Yw Ty XY R 1 RPATT

.[200,300]+[[400,500],100]1 =100+ 0=100

13 run DY7N 30 4713



11 P2 1TV

8 Nanan

7ann nEw Y Tva Y00 e e =By nerIy e 1t 0T puaan novw 98-Sy
O%10R 9w e =Ly p Ty ooenen (72 eh)

TIMN DWW 72 RPN RPDYY WY ORD 1NYNY

IR PUpa® P71 912 0w 1w qnws AR NeDIT T 5V DY 2@ M 7173 TR
nyaen 7y

9 Mmpon
YT TW a,,a,,...,4, NPT DY NP Yabw 3 3a Y ovp e Ty 937
ST AT -2Y Dapnan nyawn I anw W R vwn -y fapnnn

177 "Ynn ARG 0T MY 3 amxa bonw an 933 pawnn mbyaYt wew 1ven
Ay =Yy 85 mra wy rr-by memizn onIyaw (e Oy npew) TR 72 OX
=1 R0 oMy DU DUBYDN T80AW N°307 1Mk KID DIV 100D bR 192
X2 7702 .TTNA PdRA O1PRA Do0n bw A wanwa? Jukaw 1307 ,17ann neeh
Sy 1725 Tnn oK PInTn Mwh DA oI A1 APK T 2Wwar (WD 1°3) AN

1713 Pon P

AVnh BIYYNN 79 .1

172070 Mo 8% YMNN 2apn IMR 217wNA Y DX Tanth aeenh pvhenn 1y owa i1iol
0% DYMBT MMTYR 2R 235 oma hropnn YRR 1Y NN LD LM70 IR vaY)
JITT TDIRT T2 ADY Yo nppnb b nm Y L 1manTn

10 napan
21n3% waER Tnh

[a,b]=+a+h

73 1970K R) 1272 YV -9V IRINNT NPTIY MR 93 195 .0mp00n Yw BpPRNn 77°ha oY
NMEAR DY 7Y N1 (MIa

NPTV *99Y 030 S ARk NN M2y

wawn 9N 30 1112 14



o»eanR o°RIH - 0PV 1T

11 vavn
[R01 W2 OONT £, 85,8, € {+1,—1} P, 4,,a,,...,q, MVIY 2 N2

g=g&a,+6a,+..+&£,a,.

:RIPW 0 g 7237 MINAD MYen MR
JPHonn Papnnn nyRw 7Y XN g (1)
213 yvn Papnan ayaw Ty N g (2)
.0<g<max{q|g >0} (3

nwn
SN2 RDINTN NX0w 093, 0 < g < max {a,, a,,...,a,} WITT? P°ROD X7 (3) *RIN3

g =300+300+300—-500 =400

.g < 500 -w Mk MINIT DMIPN 4-1 72 YV TP-5Y 2aphal 71 R m Ty

11 vavn nnan
D0 Y 2w 0D ARk RN phon (2 <=1

bw Mws PIRN-R DX g > 0,13003 01 ¥ 2aphen avaw 7w g 3 <(2)
IR r=2 DX JUPIAY AR PN =173 1# 5Y PRPIIPKI MNN7 1071 (3) RN
JNR-7050 25wa yyn eyt caw e omrxainn 7 0<g_<q, WR3 =9, ~4-
MYk nmn e 19 by p-n im0 g, -7 DRNDA YYR-Nm
.4, 9w ywn-nna oyn neap ko0 7 < {L,...,n} Wr3 g, <max{aq, |5 >0,ic ]}

Y

g<q, <max{a ¢ >0,iel}<max{a s >0}

"3 PINY 102 WK L(3) RIN DX DPpRn W =64 + &4, +..+£.a, {1} <=(3)
g, >0 VY o) - MR WY a,,...,a, PP DR poM.i 232 ¢, >0 "1 n22

JPORY N2V 1702 DTN DR W00 1701 MPAPHN DX 73 N2 .6, <0 IMAY 18

15 IR SN 30 A



125511 Yam v M
DAanR - mMp™ 1K MRapn N

g=a +...+a, >max{a‘- F‘E:' >0}

531,19 XY AX13P DO AAK O1TY T YR I 298 PRI 25WA X3 1918 7oA 1331
TMMIY 01302 AR MAPRY N%12PAn NNR ATV 0TpA 2903 ARYING e 206 A
WA PEYITRI NIRAA? 5P sNIEpT ANk enTw M1 RN @ DX L29w 1nIRa
APIIYR 237 1970 WK MHYYA 10 AR X12ApR APYIYA 73 ,%apnnn pionn Sw o ayiaen
Y MnaY 1 AP0 R oMon 3w ax) 71900 1°0n n1vya I e axapna
ATV Na™w RRE T3P0 AR TMAY ARTI 25w NN TY 1avn e nbap ax1ap PR
93 "NMPI” oMop 22w OR PR CPpment APy phonn nma LOpnn nR wRTn
(1921 733w MNTYN 21303 AR "APMRY AN IX1ARTY TIVa MR DNKa DTTYn
TIPROD 1373 "AYRD NP LD 2Na RN RYE DAx M1y ey a3 v
O 12103W) AIARD MIVAR war M1 g wpant (vnawn Ty whenm L £ >0
2 11 2xn APEmMT NXEpa YR Y abwn aTon Yeaa Aateamnen neapa (e

A(3) N AR, g > max {a, | & > 0}

Jn°1 13w} PIomd BT IX g =30+10+10+10+10—50=20 DX ,XBNT?

.g =[[[[[10,50],101,10],10],30] x1 (nnxa 2%wa p1 30 -1 wenwn®
Sen

12 mpon
oY *pIvan cab awyn® oTvwnR TWY 1w 17anan b nwyn? ovwnT Ty

NN
TMP3A OOPITA W RPNT TR 1770 089,11 W woanwin? woR Ao pInvn sob
W - MIORD YD Yw owropnn X0 eyRb mbenn Tt 03 ¥y NIn pion baw
JET PN % nwyn’ atPenn JWY 1w IR 1P 17anan 8b neyn? mbeni

b3 by obwna T 2w DIPDRRA RIG ADY MRA °ok awynd ownn W ap T¥n
(23) 23pni AT T 9 MPOm 2 NIREA 182 .OPANIT ATVIVE YTV Ay 07an MR
IN 07,12 R 717 T LOPRND P00 2V (02) 23PN X0 11 bAwn "Y1 ;RMR My oy
Jfanan 97 qwyn? oPwnn 1w? e
JM2 A1 oM AwynS obwnn 2Ty I 013707

Swn

TIrUn MISN 30 1798 16



0BDRanR 003N - o9V e

13 napon

PN 92 I 72 *8Y 10 - 0WBRA MREN AW, 4,,4,,..., 4, DTV 727V Thna
0P jE i) DR OV p=a, +.ta, o»phNn o100 Y3 o - RoY

et

+ a a;
a +...+a sﬁi"s a +..+a +-L
= Ty 2 I iy 2

nnavn
XN DRABT TEen 7Y K obwn 7w N pP=).4 ox 1 myn By

ief

g 11 vown 05y I ={i|s <0} ,11 vown *rmvod .q:ia,-—Zp:Za,-—-Za,-

=1 iel el
m7apnon Mot L0<g<a; -w P JET 0vp X P OR MWON IYIY T RB

2p<Y a,<2p+a, WD 0<) g -2p<a, JPOR,JA pNW
i=1

i=l

S

PN 0N LN
14 fyya
Awynh 01w T 2N 2T0paR DNTTIR R¥

N3 YD AP W YA DTIPN YOI (00 e-YY

15 52va
rPEIRY (Mon) AT 2PN PN 00T R R¥A 4, a,,..., @, DRIY 0¥ID0D A PN
am20

"Wna D1 °Ya R Partition Problem (PAR) "npomi mya™ owa naon 1 mwya
BIXp W *OX?P1 MRna NP-complete NPYAT ANXY 01wy nn*wHa 73781 X7 Jenan

(5]
mnm B2 n3wn 3 P9 o°Ap 150R) 1Iwnl 123 Ay aptnn evaw 1rE? R
J[1]-2 nBOIS YO0 W MWk P tnna

417300 Py Pop nwn a2 amn 13

17 nIYen 919,30 171a



oM am ey

£™DDR NRPWM 0¥ 200 K37 onvmbxS Ppw 0vTy qEd 1mamn 5w oneaan
{DON MR = 0RYn W = AYaE I

DIPIRT IR 0PwNN WY N0 L aawn TIY MR ANwm aRvwtnn 99on N2 .t
Kbkl
J2mann b pbmnn TIva 1awn 7Y DR 70M RPN NYN2AW 190 DR PR L2

X327 BRMIPRY Yipw o7y mMTE? RoT-TRntin b amabra
AT5w o Or abenn WP Ao aRenR 08on Y na L
080 Y BN TIva 2710 0s0RT Y DR mYwta N0 L2

16 1apon
wy Yaybn mionAa ,OYIERT TR 2R 0N A0Y PN Wt 1PanTt 2w 0'entneRa
D71V S onopnn 7w

MRS BD3 IMMIYA *39Y 01307 0N (bR SR TV wRD o' 78 DaMR
MTPA0 w NEYERN "MW o1Pn na 0PNpA 0UNYR O SNNTTY YWY 017 oM7Y w
JOOBDIRG TP RN 1 DMAYRIT NIl

T C*7¥it adn TN Do aeERMDIR MIKYIND 1M 200 orvyIaeR | IrRa (9IRa
L(1"an™n Sw 7MwR 173 M) TP 1703 OM1TIeR ATTIVA 0T

wy Mbp-InYa 1PN AYIN3 ("IPh NIITTXD” NA0IN) ADT PRI P DTN
J[4] "2nenn Mewt YTEn DNDD2 107 NI L dwnn YN OMpnia T oA
:[3]-2 MmN AR
A particularly clever algorithm was described in 1982 by Narendra Karmarkar and
Richard M. Karp, who were then both at the University of California, Berkeley.
It is a “differencing” method: At each stage you choose two numbers from the
get to be partitioned and replace them by the absolute value of their difference.
This operation is equivalent to deciding that the two selected integers will go
into different subsets, without making an immediate commitment about which
numbers go where. The process continues until only one number remains in the
list; this final value is the discrepancy of the partition. You can reconstruct the
partition itself by working backward through the series of decisions. In the search
for perfect partitions, the Karmarkar-Karp procedure succeeds even more often

than the greedy algorithm ¢

B. Hayes, “The Easiest Hard Problem”, dmerican Scientist, 2002 14
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